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All Candidates' performance across questioi;

Maka 9 Atteg %

Quest itle

la 15155 0.8 0.4 1 83.2 93.4
1c 15191 2.1 1.2 3 68.8 93.6
2b 15578 0.4 0.5 1 39.6 96
3a 16137 2.4 1 3 81.6 99.4

4 15713 1.9 1.3 3 63.6 96.8
6a 15927 0.7 0.5 1 67.1 98.1
6C 15797 0.3 0.4 1 27.6 97.3

8 14545 3.1 2.1 6 51.5 89.6
10a 15863 1.8 0.6 2 89.7 97.7
11la 15380 1 0.7 2 50.1 94.8
12a 15793 0.2 0.4 1 23.3 97.3
12¢c 15885 0.1 0.3 1 11.6 97.9
14a 13507 0.5 0.7 2 25.7 83.2
15 14313 1.5 1.4 3 49.4 88.2
16b 14480 0.6 0.9 2 30.6 89.2
17b 12111 0.5 0.8 2 23 74.6
18 12210 0.6 1 5 12.1 75.2
19b 8904 0.5 1.1 3 17.7 54.9
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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4. Which of the following fractions is nearest to 1 2 m
1 T
5 25

You must show all your working. [3]











4. Which of the following fractions is nearest to 1 ?

4
1 x 13
5 25 50
You must show all your working. 3]
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4.  Which of the following fractions is nearest to 1 ?

1 I
5 25

You must show all your warking. [3]











4.

Attempt to display any 3 or 4 in a

common format.

e.g. all decimals or all as percentages or all
with a common denominator or calculation
using a common value.

Three values accurate.
13/50 or equivalent AND all 4 correct.

M1

Al
Al

Method mark is for the attempt.
e.g. attempt to show any three as
0-25, 0-2(0), 0-28, 0-26. OR
25(%), 20(%), 28(%), 26(%) OR
25/100, 20/100, 28/100, 26/100 OR
Say, ¥ax25=6-25,1/5%25=5,7/25x25=7,13/50%25=6-5

C.A.O.
SCl1 for a 13/50 if no marks gained.











4. Which of the following fractions is nearest to % ?

1
5 25

You must show all your working.

Exan




Sticky Note

A common error was not writing the ¼ in a common format. (Gained 2 marks)










4. Which of the following fractions is nearest to 1 ?

4
1 x 13
5 25 50
You must show all your working. [3]
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Sticky Note

Perfect answer using percentages as a common format. (B3)










4. Which of the following fractions is nearest to 1 ?

1 s
5 25

You must show all your warking. [3]




Sticky Note

Perfect answer using decimals as a common format. (B3)










4. Which of the following fractions is nearest to ‘11 ?

1 7 13
5 25 50
You must show all your working. [3]
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7.

Calculate the mean of these four time periods.
You must give your answer in hours and minutes.

(4]

5 hours 20 minutes 2 hours 44 minutes 6 hours 18 minutes 4 hours 34 minutes

Mean time = L“ hours SS minutes
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Mean time= 4.
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7. An attempt to find the total of the four time periods.

(Sum of time periods =)
18(hr) 56(min) OR  1136(min)
+4

= 4 hours 44 minutes

M1

Al

Al

Allow any convincing attempt. A total has to be found.
e.g. sight of 18-16 or 18h 16min etc.

Not enough to simply list
eg520+244+618+434

C.A.O. Allow 18-93(...)(hr) but mark final answer.
FT for m1, only if ‘their sum of time periods’ is
between 17h (1020min) and 21h (1260min) inclusive.

Allow FT Al only if the sum of their time period is x
hrs y min where x is not a multiple of 4 and y # 0.
OR the sum of their time period is t minutes, where t
is not a multiple of 60.

Sight of 284 (min) implies M1A1m1.

Note 1: If time is incorrectly added as ‘decimals’.
18-16 or 18h 16min is M1AO. Further work of

18-16 + 4 = 4.54 (or 4h54m) is m1AO0
BUT 18h 16m + 4 = 4h 34m is m1A1 (FT)

Note 2: Incorrect use of calculator.
e.9. M1IAOmM1AO for sight of 930-5(min)
(From 320 + 164 + 378 + 274 + 4)

Alternative method
Attempt to add time periods as ‘hours + min’
17hours (+) 116 minutes
+4

4 hours 44 minutes

M1
Al

Al

FT for m1, only if ‘their sum of time periods’ is
between 17h (1020min) and 21h (1260min) inclusive.











7.

Calculate the mean of these four time periods.
You must give your answer in hours and minutes.

(4]

5 hours 20 minutes 2 hours 44 minutes 6 hours 18 minutes @Lum 34 minutes

Mean time = L“ hours SS minutes




Sticky Note

Common error of treating the time periods as decimals.
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Mean time= 4.




Sticky Note

Correct work until final step when candidate reverted to treating time period as a decimal.
	(M1A1m1A0)











5 hours 20 minutes 2 hours 44 minutes 6 hours 18 minutes 4 hours 34 minutes
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Sticky Note

Correctly working in minutes until final conversion error.
	(M1A1m1A0)











7.

Calculate the mean of these four time periods.
You must give your answer in hours and minutes. [4]

5 hours 20 minutes 2 hours 44 minutes 6 hours 18 minutes 4 hours 34 minutes

Meantime= ... .hours.......... minutes

Examiner

only

3300U401

09










in this question, you will be assessed on the quality of your organisation, communication and
accuracy irn writing.

Cube A and cuboid B are shown below. | ¥o ¥ g
5cm 5cm
A B
5cm 4dcm
Scm 4cm

Diagrams not drawn to scale

Express the volume of B as a percentage of the volume of A.
You must show all your working. [4 +2 OCW]











Express the volume of B as a percentage of the volume of A.
You must show all your working. [4 + 2 OCW]

B x4 X5=80 0> -











Express the volume of B as a percentage of the volume of A.
You must show all your working. [4 +2 OCW]











(Volume A=)5x5x 5 (cm’ OR M1 | For use of Vol =1 x b x h with either A or B.
(Volume B =) 4 x 4 x 5 (cm®)
(Volume A =) 125 (cm®) Al | C.A.O. for both volumes.
AND (Volume B =) 80 (cm3) One correct implies previous M1.
(Volume of B as a percentage of the volume of A)
=80 (x 100%) M1 | FT their derived ‘volumes’.
125
= 64(%) Al | An answer of 64(%) gains all four marks.
Allow marks if they work with base areas (as heights
are equal) but must explain in order to gain OC1
mark.
Alternative method
(Where125 cm® and 80 cm® not shown.)
5x5x5(cm’) OR4x4x5(cm’) M1
4 x 4 x 5 (x100%) M2
5x5x%x5
= 64(%) Al
Organisation and Communication.
0OC1 | For OC1, candidates will be expected to:
e present their response in a structured way
e explain to the reader what they are doing at
each step of their response
e lay out their explanation and working in a way
that is clear and logical
Accuracy of writing.
w1 | For W1, candidates will be expected to:

e show all their working

o make few, if any, errors in spelling,
punctuation and grammar

e use correct mathematical form in their
working

e use appropriate terminology, units, etc











in this question, you will be assessed on the quality of your organisation, communication and
accuracy irn writing.

Cube A and cuboid B are shown below. | ¥o ¥ g
5cm 5cm
A B
5cm 4dcm
Scm 4cm

Diagrams not drawn to scale

Express the volume of B as a percentage of the volume of A.
You must show all your working. [4 +2 OCW]




Sticky Note

Correct volumes (M1A1). Incorrect percentage answer (M0A0)
OC 1. Allowed as cuboids identified (explanation), logical structure (volumes found then attempt at percentage).
W 0. No units shown for volumes.











Express the volume of B as a percentage of the volume of A.
You must show all your working. [4 + 2 OCW]

B=ux4xX5=80 m3 T
“‘ o




Sticky Note

All 4 marks for correct answer of 64%.
OC 0. No explanation or communication for the appearance of 64% in the solution
W 1. (Could well have been OC 1 and W0.) 
Same error of not showing all their working for 64% of 125 = 80 not punished twice.











Express the volume of B as a percentage of the volume of A.
You must show all your working. [4 +2 OCW]

.................... G x & x& = 126 gud




Sticky Note

All 4 marks for correct answer of 64%.
OC 0. No explanation or communication. Cuboids not identified
W 0. Incorrect mathematical form (160 = 16 × 4 = 64%)











8. In this question, you will be assessed on the quality of your organisation, communication and
accuracy in writing.

Cube A and cuboid B are shown below.

5cm 5cm

5cm 4cm

5cm 4cm

Diagrams not drawn to scale

Express the volume of B as a percentage of the volume of A.
You must show all your working. [4 +2 OCW]
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5 awr 20 munud 2 awr 44 munud 6 awr 18 munud 4 awr 34 munud







5 awr 20 munud 2 awr 44 munud 6 awr 18 munud 4 awr 34 munud

L
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Sticky Note

Correctly working in ‘hours’ throughout with a correct conversion at the end.
	(M1A1m1A1)







Express the volume of B as a percentage of the volume of A.

You must show all your working. [4 + 2 OCW]
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Express the volume of B as a percentage of the volume of A.

You must show all your working. [4 + 2 OCW]
: - - 3

Cirbarsch.. A Nvehsme..2.9.X8 X887 \25em o

Coboian,. B uohoame T 4 ¥4 xS crm.




Sticky Note

All four marks for 64%.
	OC 1 Response is structured with clear and logical explanations.
	W 1. All the working is shown, correct mathematical form and correct units.







9. The diagram below shows an equilateral triangle ABC with AB = (4x — Tycm.

{4x - T)em

Diagram not drawn to scale

The perimeter of the triangle is 27 cm.
Calculate the value of x. [3]







9. The diagram below shows an equilateral triangle ABC with AB = (4x — Tycm.

{4x - T)em

Diagram not drawn to scale

The perimeter of the triangle is 27 cm.
Calculate the value of x. @

[3]




Sticky Note

A correct method shown, so follow through marks can be given.
	(M1 A0 ft for A1)
If the (4x – 7) = 9 had not been shown, then no marks would have been awarded for the incorrect answer of x = 0·5.







The perimeter of the triangle is 27 cm,
Calculate the value of x. [3]











The perimeter of the triangle is 27 cm,
Calculate the value of x. [3]




Sticky Note

Shows the danger of giving an embedded answer.
	The correct answer of (x =) ‘4’ has initially been embedded in the correct position.
	BUT the final answer of x = 16 contradicts the above. 











The perimeter of the triangle is 27 cm.
Calculate the value of x.

(3]







The perimeter of the triangle is 27 cm.
Calculate the value of x. [31

hde BT ) = IO s




Sticky Note

A common error was to equate 4x – 7 = 27.
	As an incorrect method this gained no marks.







The perimeter of the triangle is 27 cm.
Calculate the value of x. [3]

- 4 lpoe doifpse. =F =3 =7 = S o8







The perimeter of the triangle is 27 cm.
Calculate the value of x. [3]

- 4 lpoe doifpse. =F =3 =7 = Spe S




Sticky Note

Clear and accurate method with a correct solution.
	Full marks.







3(4x-7)=27 or equivalent
4x =16 or 12x =48 or equivalent
x=4

M1
Al
Al

M1 for 4x —7 = 27/3

FT from ax = b.
Allow 3 marks for embedded answer BUT
Only two marks if contradicted by ‘x # 4’.

Unsupported answer of x =4 gains all three marks.
If no marks gained allow SC1 for sight of 9.
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9. The diagram below shows an equilateral triangle ABC with AB = (4x — 7)cm.

(4x—"T)cm

Diagram not drawn to scale

The perimeter of the triangle is 27 cm.
Calculate the value of x. [3]

11
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